Y= FRE7YE LR0|E

&5 89/HMF ololx|

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/3



Y= FRE7YE LR0|E

=5 4Y/HIE o[0ix|

=M
H
I O AN
F )
= f .
’ |
Y \\%4—_—
B-—
L i
=<3 M £
.’
N
[ | T
L |4
s| |_ —|
|
' H H
-
s/l 6
5 0

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

2/3



o
OS] EH F{UlE]| o2l =
O"Eso’ T — 9'I—|E'I E'I'DIE
== g9
FEHS A B C D E G H K L M N P R S T
K0476.530 30,1 30,1 30,1 40 45 40 38 51 80 60 53 25 49 M8x25 M8x15
K0476.540 40,15 40,15 40,15 56 60 56 58 71 116 88 73 35 70 M10x30 M8x10
K0476.550 50,22 50,22 5022 66 70 66 70 78 136 108 80 40 90 M10x35 M10x15

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

3/3



